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public void testSpike){ print("C D OO O oo™
Runtime.getRuntime().maxMemory()/1024). print("U O O O O
[1 " Runtime.getRuntime().totalMemory()/1024).

currMemory=Runtime.getRuntime().freeMemory(). print("J O [
00O 0000"currMemory/1024).

cache=new HashMap(). for (int 1 = 0. 1 MockBean bean=new
MockBean(). bean.setld(i). bean.setName("jerry" i). bean.setValue(i
"lerry"). cache.put(String.valueOf(i), bean). long
tempMemory=Runtime.getRuntime().freeMemory().
If((currMemory-tempMemory)/1024==1024){ print("LJ O O O O
0000 "tempMemory/1024). print("O U O O O O "i"O O
[1"). break. } }



cache.clear(). long
tempMemory=Runtime.getRuntime().freeMemory(). print("I [
OO000000"tempMemory/1024). print("C 0 OO0 o o”
(currMemory-tempMemory)/1024).

Runtime.getRuntime().gc().
tempMemory=Runtime.getRuntime().freeMemory(). print("J O
00000000 "tempMemory/1024). print("C 0 0o og™
(currMemory-tempMemory)/1024). } private void print(String
msg){ System.out.printin(msg). } 0 0 OO0 OO0 O OO O 1IMO
DOo00000479000000000000 cache.clear O
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